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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %
1 1380 8.2 3.3 16 51.5 73.6
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Section A: Changing Landscapes
Answer either questions 1 and 2 or questions 3 and 4 from your chosen landscape.
Make the fullest possible use of examples and data to support your answers.
Coastal Landscapes

Answer questions 1 and 2 if this is your chosen landscape.

Figure 1: Mass movement at West Bay, Dorset

LA AALL _ Gl ‘ 2 |

Source: NPAS Exeter

1. (@) (i) Use Figure 1 to suggest how mass movement is influencing the development of
this coastal landscape. [5]

© WJEC CBAC Ltd. (2110U10-1)

Examiner
only






3

' W A Samed e become
& Wootlgmet it & \ashy  lifferent Munthe,
amh dper 04 Pliueks dnd - deeas, it
ok i Sit ama o Wy Sfabre
e s, (s PR Lo ko Tumover























Section A: Changing Landscapes

Either: Coastal Landscapes

1. (a) (i) Use Figure 1 to suggest how mass movement is slal o
influencing the development of this coastal landscape. =N Bl Bl Bl N ©
Ol | O 5
<|O0|0|0| << =
Content: 1.1.5 | <<
5 5

Indicative Content

The development of the coastal landscape can be seen from both an erosional and depositional
viewpoint. Aspects of the photograph addressed can be development of shape, position and process.

Answers could address the following but credit other valid responses:

scars on the cliff face

crenelated cliff top indicating retreat

debris fan at foot of the cliff

debris protects base of cliff from erosion

provision of sediment to form beaches

provision of sediment as erosional tools

the impact of mass movement on economic and/or social activity

Award 1 mark for a valid suggestion using the resource with 1 or max. 2 marks for development of any
given suggestion.

1. (a) (ii) Explain why wave fetch may affect the erosion of this slalo
coastal landscape. AT m ©
Ol O B
<|[C|O|0O|<< =
Content: 1.1.4 | < | <
3 3

Indicative Content

Looking for how fetch controls the processes operating at the coast. Credit comments such as:

definition of fetch [1 max]

fetch controls the size of the waves
larger waves have more power
able to erode more effectively

Credit other valid comments including examples of influence of fetch directly related to the resource.

© WJEC CBAC Ltd.






1. (b) Explain why wind is important in the formation of coastal sand slal o
dunes. =l el Bel Bl ©
O|la|la|la| O 2
<|OQ|Q|0| << =

Content: 1.1.7 | < | <
5|3 8

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

AO1

AO1 content encompasses knowledge and understanding of how aeolian processes form coastal sa
dunes. This may include:

e erosion of sediment from beach

transportation of sediment

description of suspension, saltation and traction with link to grain size

deposition where wind speed falls behind obstacles

growth of embryo dunes

fixation of dunes

movement of sand within dunes - blowouts

AO2

Candidates should address the importance of wind and/or consider interrelationships between wind
and other factors identified. This may include:

e the relative importance of wind

the role of biotic factors

the role of physical objects at the strand line

the changing role of wind with distance inland

the changing role of wind within the dune system — blowouts

nd

© WJEC CBAC Ltd.






Award the marks as follows:

AOL1 (5 marks)

A02.1a (3 marks)

Band Demonstrates knowledge and Applies AO2.1a to explain the importance of
understanding of the role of wind in the wind and/or the interrelationships with other
formation of coastal sand dunes. factors.

3 4-5 marks 3 marks
Demonstrates accurate knowledge and Applies knowledge and understanding to
understanding of aeolian processes. construct well-developed and structured
explanation of importance of wind
Well-developed knowledge and processes.
understanding of link between aeolian
processes and the formation of sand dunes. | Applies knowledge and understanding to
construct well-developed and balanced
Demonstrates accurate knowledge and arguments, supported by appropriate
understanding through the use of evidence.
appropriate and well-developed examples.
Well annotated sketches / diagrams / maps
may also be used and should be credited.
2 2-3 marks 2 marks
Demonstrates mostly accurate knowledge | Applies knowledge and understanding to
and understanding of aeolian processes. construct a partial explanation of
importance of wind processes, with some
Demonstrates mostly accurate knowledge | structure.
and understanding of link between aeolian
processes and the formation of sand dunes. | Applies knowledge and understanding to
construct partially developed and partially
Demonstrates mostly accurate knowledge | balanced arguments, supported by mostly
and understanding through the use of appropriate evidence.
mostly appropriate examples which may not
be fully developed.
Adequate sketches / diagrams / maps may
also be used and should be credited.
1 1 mark 1 mark

Demonstrates limited knowledge and
understanding of aeolian processes.

Demonstrates limited link between aeolian
processes and the formation of sand dunes.

Demonstrates limited knowledge and
understanding through the use of examples
which are undeveloped.

Basic sketches / diagrams / maps may be
seen and can be credited.

Applies knowledge and understanding to
construct a limited explanation of
importance of wind processes, which lacks
structure.

Applies knowledge and understanding to
construct limited and basic arguments,
supported by limited evidence.

Response not creditworthy or not
attempted.

Response not creditworthy or not
attempted.

© WJEC CBAC Ltd.











Section A: Changing Landscapes
Answer either questions 1 and 2 or questions 3 and 4 from your chosen landscape.
Make the fullest possible use of examples and data to support your answers.
Coastal Landscapes

Answer questions 1 and 2 if this is your chosen landscape.

Figure 1: Mass movement at West Bay, Dorset

Source: NPAS Exeter

1. (3 ) Use Figure 1 to suggest how mass movement is influencing the development of
this coastal landscape. [5]
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Sticky Note

AO3 question asking candidates to interpret photograph in the context of coastal development.





3 |

(@ Explain why wave fetch may affect the erosion of this coastal landscape. [3] OZ




Sticky Note

AO2 question looking at how fetch could influence the erosion of the coastline in the photograph



Sticky Note

link to energy established



Sticky Note

links to amount of erosion



Sticky Note

could have linked these to energy more explicitly eg attrition would be increased as increased wave energy would carry more/larger sediment to erode.



Sticky Note

provision of fetch definition would have gained an extra mark.



Sticky Note

Question is AO1 knowledge of the formation of dunes by wind and AO2 application by looking at role of wind and other factors.



Sticky Note

AO2 links vegetation to formation of dunes



Sticky Note

develops influence of vegetation 



Sticky Note

link to formation of particles is too tenuous



Sticky Note

drifts into description of dune succession with no real link to the question.



Sticky Note

AO1- 1 mark - shows limited knowledge of how wind forms coastal dunes. Needs more on the aeolian processes that form dunes 
AO2 - 2 marks - recognises the influence of vegetation with some development






















Section A: Changing Landscapes
Answer either questions 1 and 2 or questions 3 and 4 from your chosen landscape.
Make the fullest possible use of examples and data to support your answers.
Coastal Landscapes

Answer questions 1 and 2 if this is your chosen landscape.

Figure 1: Mass movement at West Bay, Dorset

1. (@ (i) Use Figure 1 to suggest how mass movement is influencing the development of
this coastal landscape. [5]
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(i) Explain why wave fetch may affect the erosion of this coastal landscape. [3]

(b) Explain why wind is important in the formation of coastal sand dunes. [8]
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Figure 2: Properties at risk from coastal.erosion and flooding in the January 2014 storm in

4
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(i) Suggest one social loss associated with coastal erosion. [3]

O Soiah (s twoesd e e fack thak

(b) Examine the success of one management strategy used to manage the impacts of coastal
processes on human activity. , [8]
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2. (@) (i) Use Figure 2 to describe variations in the percentage of clal o
properties at risk from coastal erosion and flooding. =l el Bel Bl ©
Ol | O 5
<|O0|0|0| << =
Skills: 3.6 | <| <
5 5

Indicative Content

Answers could address the following but credit other valid responses:
greatest in Newport

concentration in South East Wales

cluster in North Wales

South West Wales has limited number

West coast has limited number

least in Bridgend

Award 1 mark for a valid suggestion using the resource with 1 or max. 2 marks for development of any
given suggestion.

2 (a) (i) Suggest one social loss associated with coastal erosion. sl ol o
=N Bl Bl Bl N ©
. Oloa|la|lxn|O B
Content: 1.1.9 glololo| < =
| <<
3 3

Indicative Content

Allow 1 mark for identification of a valid social loss such as homelessness, loss of possessions,
trauma, injury etc.

Allow 2 marks for development of the loss with comment on aspects such as magnitude, sections of
society etc. or development of example.

© WJEC CBAC Ltd.






2. (b) Examine the success of one management strategy used to clal o
manage the impacts of coastal processes on human activity. | < | <[ 3 | 3| @ ©
Ol | O 5
<[00 |0O| << et

Content: 1.1.9 | <<
5 3 8

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

AO1

AO1 content encompasses knowledge and understating of one management strategy. The content will
depend upon the management strategy chosen but there are a number of threads that are worthy of
credit:

the reasons for the strategy such as high rates of erosion or deposition of sediment in inappropriate
places

the characteristics of the strategy such as physical structure or operation

how the strategy modifies process

geographical context

AO2
Candidates should demonstrate application of knowledge and understanding through an examination
of the extent to which one coastal management strategy has been successful. This may include:

the extent to which the strategy has modified erosion or deposition issues

the extent to which the strategy has reduced impacts on human activity

the impact on the aesthetics of the coast

the impact of the strategy on processes operating in adjacent parts of the coastal system
the cost and benefits of the selected strategy

© WJEC CBAC Ltd.






Award the marks as follows:

AOL1 (5 marks)

AO2.1c (3 marks)

Band Demonstrates knowledge and Applies AO2.1c to examine the success of
understanding of one coastal management | the strategy.
strategy.
3 4-5 marks 3 marks
Demonstrates accurate knowledge and Applies knowledge and understanding to
understanding of one coastal management | construct well-developed and structured
strategy. assessment of success of the strategy.
Demonstrates accurate knowledge and Applies knowledge and understanding to
understanding through the use of construct well-developed and balanced
appropriate, and well developed examples. | arguments, supported by appropriate
evidence.
Well annotated sketches / diagrams / maps
may also be used and should be credited.
2 2-3 marks 2 marks
Demonstrates mostly accurate knowledge | Applies knowledge and understanding to
and understanding of one coastal construct a partial assessment of the
management strategy. success of the strategy, with some
structure.
Demonstrates mostly accurate knowledge
and understanding through the use of Applies knowledge and understanding to
mostly appropriate examples which may not | construct partially developed and partially
be fully developed. balanced arguments, supported by mostly
appropriate evidence.
Generalised sketches / diagrams / maps
may also be used and should be credited.
1 1 mark 1 mark

Demonstrates limited knowledge and
understanding of one coastal management
strategy.

Demonstrates limited knowledge and
understanding through the use of examples
which are undeveloped.

Basic sketches / diagrams / maps may be
seen and can be credited.

Applies knowledge and understanding to
construct a limited assessment of the
success of the strategy, which lacks
structure.

Applies knowledge and understanding to
construct limited and basic arguments,
supported by limited evidence.

Response not creditworthy or not
attempted.

Response not creditworthy or not
attempted.
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Use Figure 2 to describe variations in the percentage of properties at risk from p
coastal erosion and flooding. [5] 3
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Sticky Note

AO3 question is asking for description of variations - magnitude, regional variations - with use of the graph to support comments.



Sticky Note

Comment on magnitude that is supported by data from the resource.



Sticky Note

Identifies location and comments on magnitude but 'no risk' is rather vague.



Sticky Note

Gives a comment on variation within highest locations



Sticky Note

Backs up magnitude comment for lowest locations with data from graph.
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@ (b) Examine the success of one management strategy used to manage the impacts of coastal
processes on human activity. _ [8]
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Sticky Note

AO2 question that looks at consequences of coastal erosion identified in 2ai



Sticky Note

valid comment on migration.



Sticky Note

conjecture with no support



Sticky Note

Answer fails to focus on the question. The idea of migration could have been developed more effectively.



Sticky Note

Question is AO1 knowledge of the management strategy [reasons, characteristics, operation] and AO2 application by looking at success



Sticky Note

strategy identified with basic description



Sticky Note

some development of the process involved with strategy



Sticky Note

AO2 comment on group of people who benefit



Sticky Note

separate AO2 point concerning impact on environment



Sticky Note

environment point developed



Sticky Note

AO2 critical comment on level of success



Sticky Note

AO1 - Band 2 - 2 marks. Some comment on strategy and process but partial. Room for improvement with comments on reasons for strategy, more detail on process or use of example.
AO2 - Band 3 - 3 marks. A variety of comments on success that have been developed.
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2. (a) (i) Use Figure 2 to describe variations in the percentage of properties at risk from
coastal erosion and flooding. [5]
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(i) Suggest one social loss associated with coastal erosion. [3]

(b) Examine the success of one management strategy used to manage the impacts of coastal
processes on human activity. [8]
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Glaciated Landscapes

Answer questions 3 and 4 if this is your chosen landscape.

Figure 3: Llanberis Pass

Photographer: David Flett

3. (a) (i) UseFigure 3 tosuggesthow this glacial landscape has been modified since the ice

retreated. [5]
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i

(i) Suggest one way in which ice thickness could have affected glacial erosion in this
landscape. [3]
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(b) Compare two processes of glacial erosion. [8]
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Glaciated Landscapes

Answer questions 3 and 4 if this is your chosen landscape.

Figure 3: Llanberis Pass

Photographer: David Flett

3. (@) (i) UseFigure 3 tosuggest how this glacial landscape has been modified since the ice
retreated. [5]
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(i) Suggest one way in which ice thickness could have affected glacial erosion in this o

landscape. [3]
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(b) Compare two processes of glacial erosion. [8]
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Or: Glaciated Landscapes

3. (& (i) Use Figure 3to suggest how this glacial landscape has

been modified since the ice retreated.

AO1

Content: 1.2.8, 1.2.9

AO2.1a

AO2.1b

AO2.1c

AO3

Total

(631

Indicative Content

The resource shows features that have been produced by a variety of processes at different stages.

There are scree slopes, a river now running in the valley and possible evidence of periglacial

processes. Answers could address the following but credit other valid responses:

scree slope development as a result of freeze thaw weathering
fluvial erosion on the meanders

fluvial deposition on a narrow ‘flood plain’

possible solifluction lobes

infilling of lake

human modification of the landscape

Award 1 mark for a valid suggestion using the resource with 1 or max. 2 marks for development of any
given suggestion.

3. (@) (i) Suggest one way in which ice thickness could have slalo
affected glacial erosion in this landscape. A ||| T ©
Ol O =)
<| 0|00 =
Content: 1.2.5 < < | <
3 3

Indicative Content

Answers could address one of the following but credit other valid responses:

Award 1 mark for identification of factor + 2 for development to explain how ice thickness could have

thicker ice provides more pressure
speed of flow

increases abrasion

weight can crush weaker rocks

affected glacial erosion.

© WJEC CBAC Ltd.






3. (b) Compare two processes of glacial erosion. clal o
=N Bl Bl Bl N ©
Content: 1.2.5 9( 8 8 8 9( 2

| < | <
5|3 8

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

AO1
AO1 content encompasses a knowledge and understanding of processes glacial erosion. Candidates
may choose a combination of plucking, abrasion and sub glacial fluvial erosion.

Plucking

e joints in rocks

meltwater seeps into joints

freezes

blocks ripped out by moving glacier
jagged remains

Abrasion

debris at base of glacier
weight of glacier

scours bedrock

striations and polishing of rock

Sub glacial fluvial

e sediment from erosion by ice and weathering
¢ meltwater flowing under pressure

e abrasion of bedrock

AO2

Candidates should demonstrate application of knowledge and understanding through comparison(s)
which may include:

e operation of process

e speed

e magnitude

e outcomes of process

© WJEC CBAC Ltd.






Award the marks as follows:

AOL1 (5 marks)

AO2.1a (3 marks)

Band Demonstrates knowledge and Applies AO2.1a to compare the
understanding of two processes of glacial characteristics of two erosional processes.
erosion.

3 4-5 marks 3 marks
Demonstrates accurate knowledge and Applies knowledge and understanding to
understanding of two processes of glacial construct well-developed and structured
erosion. comparison(s).
Well annotated sketches / diagrams / maps | Applies knowledge and understanding to
may also be used and should be credited. | construct well-developed and balanced
arguments, supported by appropriate
evidence.
2 2-3 marks 2 marks
Demonstrates mostly accurate knowledge | Applies knowledge and understanding to
and understanding of two processes of construct a partial comparison(s).
glacial erosion.
Applies knowledge and understanding to
Demonstrates accurate knowledge and construct partially developed and partially
understanding of one process of glacial balanced arguments, supported by mostly
erosion. appropriate evidence.
Generalised sketches / diagrams / maps
may also be used and should be credited.
1 1 mark 1 mark

Demonstrates limited knowledge and
understanding of two processes of glacial
erosion.

Basic sketches / diagrams / maps may be
seen and can be credited.

Applies knowledge and understanding to
construct a limited comparison(s).

Applies knowledge and understanding to
construct limited and basic arguments,
supported by limited evidence.

Response not creditworthy or not
attempted.

Response not creditworthy or not
attempted.
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Glaciated Landscapes

Answer questions 3 and 4 if this is your chosen landscape.

Figure 3: Llanberis Pass

Photographer: David Flett

3. (a (i)@se Figure 3 to suggest how this glacial landscape has been modified since the ice

retreated. [5]
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Sticky Note

AO3 question asking candidates to interpret photograph in the context of post glacial development.



Sticky Note

not post glacial



Sticky Note

not post glacial



Sticky Note

Lacks precision but benefit of doubt.



Sticky Note

both elements have not addressed change in the landscape - eg the road point should link to how the glacial landscape has been modified - the route of the road has been cut into the slope.
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(i) Suggest one way in which ice thickness could have affected glacial erosion in this
landscape. 13] | 3
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Sticky Note

AO2 question looking at how ice thickness could influence the erosion of the landscape shown in the photograph



Sticky Note

thickness linked to pressure



Sticky Note

point developed to outline impact of pressure on character of glacier



Sticky Note

explanation of how rate of erosion has been increased



Sticky Note

Question is AO1 knowledge of the processes of glacial erosion and AO2 application by comparison of selected processes - speed, magnitude, operation, outcomes



Sticky Note

1st process



Sticky Note

operation of process developed



Sticky Note

impact of abrasion identified but no overt comparison



Sticky Note

2nd process



Sticky Note

development to outline operation of process



Sticky Note

impact of plucking identified but no overt comparison



Sticky Note

AO1 - Band 3  - 4 marks. Two valid processes have been identified with accurate understanding of their operation shown. The development of how process influences landform enhances response.
AO2 - Band 0 - 0 marks. There is no attempt at comparison. A small reference to similarities or differences would have easily lifted this answer.
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Glaciated Landscapes

Answer questions 3 and 4 if this is your chosen landscape.

Figure 3: Llanberis Pass

Photographer: David Flett

3. (3 IQL) Use Figure 3 to suggest how this glacial landscape has been modified since the ice
retreated. [5]
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Sticky Note

AO3 question asking candidates to interpret photograph in the context of post glacial development.



Sticky Note

Reference to post glacial landscape feature.



Sticky Note

Not post glacial



Sticky Note

Reference to post glacial landscape feature.



Sticky Note

Benefit of doubt for infilling of lake - alluvial fans not clearly located



Sticky Note

Not post glacial



Sticky Note

Not post glacial
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(i) Suggest one way in which ice thickness could have affected glacial erosion in this
landscape. [3]
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(b) Compare two processes of glacial erosion. @ [8]
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Sticky Note

AO2 question looking at how ice thickness could influence the erosion of the landscape shown in the photograph



Sticky Note

Makes point about how thickness can influence glacier characteristics



Sticky Note

develops how thickness can influence operation of glacier



Sticky Note

develops how pressure will influence magnitude of erosion



Sticky Note

Question is AO1 knowledge of the processes of glacial erosion and AO2 application by comparison of selected processes - speed, magnitude, operation, outcomes



Sticky Note

AO1 - description of process



Sticky Note

development of process



Sticky Note

1st process



Sticky Note

2nd process



Sticky Note

AO1 - description of process



Sticky Note

AO2 - comparison of operation



Sticky Note

AO2 - comparison of operation



Sticky Note

AO2 - comparison of operation



Sticky Note

AO1 - Band 3  - 5 marks. Two valid processes have been identified with accurate understanding of their operation shown. There is support in the form of diagrams.
AO2 - Band 3 - 3 marks. A number of comparisons have been made to outline differences and similarities.
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Sticky Note

development of plucking process



Sticky Note

AO2 - comparison of operation
















Glaciated Landscapes

Answer questions 3 and 4 if this is your chosen landscape.

Figure 3: Llanberis Pass

Photographer: David Flett

3. (a) (i) UseFigure 3 to suggest how this glacial landscape has been modified since the ice
retreated. [5]
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(i) Suggest one way in which ice thickness could have affected glacial erosion in this
landscape. [3]

(b) Compare two processes of glacial erosion. [8]
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Figure 4: Global glacial budget 1980-2011 on
2007
2
5 o
@
ks
% —2001——
©
=_E_ —-4001—
E
®  ~600
0O
5
= —-8001—
S
8 —1000}
>
@
£ —12001 : - —
~1400 : — —
Source: www.wgms.ch
4. (a) (i) Use  Figure 4 to describe the trends in the global glama! budget. [5]
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(i) Explain why there are seasonal variations in ablation within the glacial budget. [3] Exﬁm';‘er
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(b) Examine the formation and characteristics of one fluvioglacial landform. [8]
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Figure 4: Global glacial budget 1980-2011
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4. (a) () UseFigure 4 to describe the trends in the global glacial budget. [5]
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(i) Explain why there are seasonal variations in ablation within the glacial budget. [3]
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4.

(@ () Use Figure 4 to describe the trends in the global glacial
budget.

AO1
AO2.1a

Skills: 3.6

AO2.1b
AO2.1c

AO3

Total

(631

Indicative Content

The resource shows a number of distinctive features. Answers could address the following but credit

other valid responses:

overall decrease

fluctuation in annual mass balance
largest decline in 2006

smallest in 1993

few years with positive balance
none since 1989

Award 1 mark for a valid suggestion using the resource with 1 or max. 2 marks for development of any
given suggestion.

4. (a) (i) Explain why there are seasonal variations in ablation sl|lalo
within the glacial budget. =N Bel Bl Bel X ©
Ol O =)
<| 0|00 =
Content: 1.2.2 | <<
3 3

Indicative Content

Answers could address the following but credit other valid responses:

explanation of input/output balance affecting glacial budget
decrease in inputs from snowfall

melting increase due to increase in temperature

increase inputs

less melting due to lower temperatures

Allow 1 mark for each point made + up to 2 max. for development of point.

10
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4. (b) Examine the formation and characteristics of one fluvioglacial clal o
landform. =N Bl Bl Bl N ©
Ola|la|lan|O 2
<|O0|0|0| << et

Content: 1.2.6 | < | <
5 3 8

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

AO1

The content will depend upon the chosen landform but expect sandur, varves, kettle holes, eskers,
cames and came terraces. With each, expect reference to:

shape of the landform

magnitude of the landform

sediment characteristics

process of formation

impact of meltwater/ice

seasonal variation

AO2
Candidates should demonstrate application of knowledge and understanding through and examination
of the linkage between process and form. This discussion may refer to:

¢ links between process and particular characteristics

¢ the relative importance of ice and water

e variations in the characteristics of the selected landform

11
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Award the marks as follows:

AOL1 (5 marks)

AO2.1c (3 marks)

Band Demonstrates knowledge and Applies AO2.1c to examine the links
understanding of the characteristics and between the characteristics and formation
formation of one landform. of one landform.

3 4-5 marks 3 marks
Demonstrates accurate knowledge and Applies knowledge and understanding to
understanding of one fluvioglacial landform. | construct well-developed and structured

examination of the characteristics and
Demonstrates accurate knowledge and formation of one fluvioglacial landform.
understanding through the use of
appropriate, and well developed examples. | Applies knowledge and understanding to
construct well-developed and balanced
Well annotated sketches / diagrams / maps | arguments, supported by appropriate
may also be used and should be credited. | evidence.
2 2-3 marks 2 marks
Demonstrates mostly accurate knowledge | Applies knowledge and understanding to
and understanding of one fluvioglacial construct a partial examination of the
landform. characteristics and formation of one
fluvioglacial landform.

Demonstrates mostly accurate knowledge

and understanding through the use of

mostly appropriate examples which may not | Applies knowledge and understanding to

be fully developed. construct partially developed and partially
balanced arguments, supported by mostly

Generalised sketches / diagrams / maps appropriate evidence.

may also be used and should be credited.

1 1 mark 1 mark

Demonstrates limited knowledge and
understanding of one fluvioglacial landform.

Demonstrates limited knowledge and
understanding through the use of examples
which are undeveloped.

Basic sketches / diagrams / maps may be
seen and can be credited.

Applies knowledge and understanding to
construct a limited examination of the
characteristics and formation of one
fluvioglacial landform.

Applies knowledge and understanding to
construct limited and basic arguments,
supported by limited evidence.

Response not creditworthy or not
attempted.

Response not creditworthy or not
attempted.
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Figure 4: Global glacial budget 1980-2011
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4. (a) (i) Use  Figure 4 to describe the trends in the global glama! budget. [5]
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Sticky Note

AO3 question is asking for description of trends with use of the graph to support comments.



Sticky Note

years of increase identified



Sticky Note

trend of increased loss seen



Sticky Note

developed using resource



Sticky Note

overall trend seen



Sticky Note

fluctuations seen
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(i@ Explain why there are seasonal variations in ablation within the glacial budget. [3]
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Sticky Note

AO2 question that looks at variations within the annual changes shown in the resource



Sticky Note

links temperature and ablation



Sticky Note

links temperature and ablation



Sticky Note

refers to mass balance 



Sticky Note

Question is AO1 knowledge of the characteristics and formation of one fluvioglacial landform  and AO2 examination of the link between process and characteristics



Sticky Note

AO1 - developed point about process



Sticky Note

AO1 - process seen



Sticky Note

AO2 - links process and characteristics of landform



Sticky Note

AO2 - links characteristics of sediment and process



Sticky Note

AO! - Band 2 - 3 marks. Shows knowledge of some characteristics and has some grasp of the formation of eskers. Points need further development and detail to gain next level. Exemplar material would also enhance the answer.
AO2 - Band 2 - 2 marks. 2 points made but development of linkage is partial
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Figure 4: Global glacial budget 1980-2011
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4. (a) (i) UseFigure 4 to describe the trends in the global glacial budget. [5] )
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Sticky Note

AO3 question is asking for description of trends with use of the graph to support comments.



Sticky Note

Trend identified



Sticky Note

development of trend



Sticky Note

use of resource



Sticky Note

Trend identified



Sticky Note

Development using data



Sticky Note

Trend identified
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(ii) Expjwhy there are seasonal variations in ablation within the glacial budget. [3]

.............................................................................................................................

D ORAORE il O TR POCES. Betgate.
TR o W\WUEMOP% .............. Ao o, lod
V21O W (N € V11 VY (o o P e /M\ammlee ..........
0L Sngestoll D\v_ﬁé@)m Mo “RUmM Gl ks /iUl
@(b} Examine the format'ion and characferistics-of one fluvioglacial landform. [8]
...... CARS.) S O RKCDPYL ... O n aNIOGlECCN

X | O;’(-\{Q‘ml{‘& .............. A ffﬂf?l%/ ld(/L .......... ... Sofd _

Mubere) . VU 00 2 i, Growiey... ...

....... 0x JtLerMbmw
An eslae S dormed.... CLWL .......... v - AN S INTH1 %2

...... VY\C)'WO«%:CL{J/MQ,&éLv:,IOdemoe/@é

\

Examiner
only
)
-
= )
&
-3 5

-2 |

21100101

09

......... PCOLEES. o
___________ k. ...0
o b = < V4
........ O 10, NN .o b L
..................................... —2 anglaad AN
© WJEC CBAC Ltd. (2110U10-1) Turn over.



Sticky Note

AO2 question that looks at variations within the annual changes shown in the resource



Sticky Note

links temperature and ablation



Sticky Note

links temperature and ablation



Sticky Note

relates ablation to mass balance



Sticky Note

Question is AO1 knowledge of the characteristics and formation of one fluvioglacial landform  and AO2 examination of the link between process and characteristics



Sticky Note

AO1 characteristic of landform



Sticky Note

AO1 - process of formation developed well



Sticky Note

AO1 - process of formation developed well



Sticky Note

AO! - Band 3 - 5 marks. Shows knowledge of some characteristics and has good grasp of the formation of eskers
AO2 - Band 3 - 3 marks. Diagrams illustrate the linkage 





S0LsOret isehions  lhe to Qo Goane of Inpeuts

boad  Out s gy e apits  in bunler sk

by hee Sppn bkiz Sumres_he,S (s

0 U t.h‘-d'l'e’ p ,C', et f‘/LJZ_lbfv(‘ALi‘nl I‘éﬂu.jn\..w} &r) L-Q;;gq[ C,,,E-)c,\jj e

O blcosn ,\,;/\\

A




Sticky Note

development of seasonal variations



Sticky Note

relationship seen



Sticky Note

AO1 character of eruption.



Sticky Note

AO2 - use of example data enhances the 'most hazardous' idea
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Sticky Note

AO1 characteristic of landform



Sticky Note

AO2 - links process with characteristics



Sticky Note

AO2 - links process with characteristics



Sticky Note

AO1 character of eruption.
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Sticky Note

development of seasonal variations



Sticky Note

relationship seen



Sticky Note

AO1 character of eruption.



Sticky Note

AO2 - use of example data enhances the 'most hazardous' idea
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Figure 4: Global glacial budget 1980-2011

200

Yearly ice gain or loss (millimetres of water)

—-1400

Source: www.wgms.ch

4. (a) (i) Use Figure 4 to describe the trends in the global glacial budget. [5]
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(i) Explain why there are seasonal variations in ablation within the glacial budget. [3]

(b) Examine the formation and characteristics of one fluvioglacial landform. [8]

© WJEC CBAC Ltd. (2110U10-1) Turn over.

Examiner
only

2110U101

09










12

Section B: Tectonic Hazards

Examiner
only

Answer all questions.

Make the fullest possible use of examples and data to support your answers.

Figure 5: Earthquake hazard map of South East Asia
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Source: www.unisdr.org
5. (a) () Use Figure 5 to describe the distribution of high and very high earthquake hazard
risk in South East Asia. [5]
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(i) Examine the relationship between the location of tectonic margins and the level of

o earthquake hazard risk in South East Asia. [9]
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(b)  Outline how earthquakes produce (i) liquefaction and (i) landslides. [8]
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Section B: Tectonic Hazards
Answer all questions.

Make the fullest possible use of examples and data to support your answers.

Figure 5: Earthquake hazard map of South East Asia
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5. (a) () Use Figure 5 to describe the distribution of high and very high earthquake hazard
risk in South East Asia. [5]
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(b)  Outline how earthquakes produce (i) liquefaction and (i) landslides. [8]
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Examiner
I
Section B: Tectonic Hazards o
Answer all questions.
Make the fullest possible use of examples and data to support your answers.
Figure 5: Earthquake hazard map of South East Asia
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5. (a) (i) Use Figure 5 to describe the distribution of high and very high earthquake hazard
(5]
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risk in South East Asia.

(2110U10-1)






he

(i) Examine“the relationship between the location of tectonic margins and the level of

earthquake hazard risk in South East Asia. [9]
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(b)  Outline how earthquakes produce (i) liquefaction and (ii) landslides. [8]

o Mo S ames. Thare wakkds Move Hle
Lland P Sede Ho Scdeer TS Calloeg
eak Weokngsken  Oh s Qnd- ounited i
s [oslbing (n beckdnt of Lond te
Collase  Ond. flL - dowen flo Sette of the
bt -











Section B: Tectonic Hazards

5. (@ (i) Use Figure 5 to describe the distribution of high and clal o
very high earthquake hazard risk in South East Asia. Sl B B B ©
Ol O 5
| 0|0 |0 | =
Skills: 3.1 | <[ <
5 5

Indicative Content

Answers could address the following but credit other valid responses:
very high has highest concentration in Myanmar

some very high in Philippines

high in Indonesia

linear pattern

NW to SE trend

distribution linked to location of tectonic margins

Award 1 mark for a valid suggestion using the resource with 1 or max. 2 marks for development of any
given suggestion.

(a) (ii) Examine the relationship between the location of tectonic
margins and the level of earthquake hazard risk in South East | _, ISI218 o =
ia. O|la|ai|ai|O b
Asia Z|olalaol< °
< | <
Content: 1.3.1
9 9

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

The question is asking candidates to apply their wider geographical knowledge to explain variations in

the level of seismic risk. There are a number of tectonic margins/boundaries shown on the map and

there could be reference to:

e description of variations in earthquake hazard risk

e processes operating at destructive boundaries that may lead to the production of earthquakes

e processes operating at the convergence of two plates that may lead to the production of
earthquakes

e processes operating at transform boundaries that may lead to the production of earthquakes

e areas away from boundaries do not suffer as much from earthquakes

13
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Award the marks as follows:

AO2.1c (9 marks)

Band Marks

Demonstrates knowledge and understanding of tectonic process and applies
AO2.1c to suggest reasons for variations in earthquake hazard risk.

marks

Applies knowledge and understanding to construct well-developed and
structured discussion of tectonic processes and the link between process and
variations in earthquake hazard risk.

Applies knowledge and understanding to construct well-developed and
balanced arguments, supported by appropriate evidence.

marks

Applies knowledge and understanding to construct a partial discussion of
tectonic processes and the link between process and variations in earthquake
hazard risk.

Applies knowledge and understanding to construct partially developed and
partially balanced arguments, supported by mostly appropriate evidence.

marks

Applies knowledge and understanding to construct a limited discussion of
tectonic processes and the link between process and variations in earthquake
hazard risk.

Applies knowledge and understanding to construct limited and basic
arguments, supported by limited evidence.

0 0 marks

Response not creditworthy or not attempted.

© WJEC CBAC Ltd.
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5 (b) Outline how earthquakes produce (i) liquefaction and (ii) slal o
landslides. =l el Bel Bl ©
OoOlnN|ln|[N| O 5
<|OQ|Q|0| << =

Content: 1.3.3 | <| <
8 8

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

Ligquefaction

during an earthquake, the soil layers are shaken

water that is absorbed into the soil layers begins to travel through the layers
the water also tends to travel toward the top

because it is less dense than most soil types.

soil to turn into a semi-solid material.

loses strength

Landslides

e vibration caused by earthquake waves

steep slopes

movement of unconsolidated material to cause rockfall
shaking overcomes cohesion in soll

water from liquefaction acts as lubricant that causes flows

15
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Award the marks as follows:

AO1 (8 marks)

Band

Marks

Demonstrates knowledge and understanding of how seismic processes can
lead to both liquefaction and landslides.

marks

Demonstrates accurate knowledge and understanding of processes that lead
to the production of both hazards.

Demonstrates accurate knowledge and understanding through the use of
appropriate, and well developed examples.

Well annotated sketches / diagrams / maps may also be used and should be
credited.

4-5
marks

Demonstrates mostly accurate knowledge and understanding of processes
that lead to the production of both hazards OR demonstrates accurate
knowledge and understanding of processes that lead to the production of one
hazard.

Demonstrates mostly accurate knowledge and understanding through the use
of mostly appropriate examples which may not be fully developed.

Generalised sketches / diagrams / maps may also be used and should be
credited.

1-3
marks

Demonstrates limited knowledge and understanding of processes that lead to
the production of both hazards.

Demonstrates limited knowledge and understanding through the use of
examples which are undeveloped.

Basic sketches / diagrams / maps may be seen and can be credited.

0 marks

Response not creditworthy or not attempted.

© WJEC CBAC Ltd.
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Section B: Tectonic Hazards
Answer all questions.

Make the fullest possible use of examples and data to support your answers.

Figure 5: Earthquake hazard map of South East Asia
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5 (@ (i) @se Figure 5 to describe the distribution of high and very high earthquake hazard

risk in South East Asia. [5] L]
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Sticky Note

AO3 question looking for description of pattern.



Sticky Note

location identified



Sticky Note

location identified



Sticky Note

location identified
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Sticky Note

AO2 question looking for examination of pattern and outline of relationship - why it occurs.



Sticky Note

Given credit as identifies 'most' - could have more precision



Sticky Note

BOD - link between margins and level of hazard seen but lacks precision



Sticky Note

relationship identified



Sticky Note

relationship identified



Sticky Note

identifies and develops anomaly using the resource



Sticky Note

attempts synthesis



Sticky Note

link between distance and risk developed with example.



Sticky Note

AO2 - Band 2 - 5 marks - there is a sound description of the relationship with some development using the resource. The development of process is missing.
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@b) Outline how earthquakes produce (i) liquefaction and (i) landslides. [8]]..
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Sticky Note

AO1 question that requires knowledge of processes.



Sticky Note

limited grasp of process



Sticky Note

limited grasp of process



Sticky Note

AO1 - Band 1 - 2marks - knowledge of both processes is limited and superficial in its development. There is some drift to impacts.
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Section B: Tectonic Hazards
Answer all questions.

Make the fullest possible use of examples and data to support your answers.

Figure 5: Earthquake hazard map of South East Asia
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only
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5. (a4 () Use Figure 5 to describe the distribution of high and very high earthquake hazard
risk in South East Asia. [5]
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Sticky Note

AO3 question looking for description of pattern.



Sticky Note

Location identified



Sticky Note

Location identified
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Sticky Note

Location identified



Sticky Note

Drifts from the 'high risk' focus of the question



Sticky Note

AO2 question looking for examination of pattern and outline of relationship - why it occurs.



Sticky Note

BOD relationship seen - location cited is useful to give credit



Sticky Note

relationship seen



Sticky Note

anomaly recognised with some support from the resource to enhance AO2



Sticky Note

drifts from question



Sticky Note

AO2 Band 2 - 6 marks - has identified patterns and given some support from resource. Lacks examination of process.
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Sticky Note

development of seasonal variations



Sticky Note

relationship seen



Sticky Note

AO1 character of eruption.



Sticky Note

AO2 - use of example data enhances the 'most hazardous' idea





14

(9 Outline how earthquakes produce (i) liquefaction and (i) landslides. [8]
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Sticky Note

AO1 question that requires knowledge of processes.



Sticky Note

Understanding of process is partial



Sticky Note

partial knowledge shown



Sticky Note

some development but needs more detail



Sticky Note

attempts exemplar but vague



Sticky Note

Partial understanding of both processes. These need more detail to gain extra credit to give a clearer grasp of process. Exemplar material needs to be more authoritative.
Band 2 - 5 marks 
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Section B: Tectonic Hazards
Answer all questions.

Make the fullest possible use of examples and data to support your answers.

Figure 5: Earthquake hazard map of South East Asia

N | EARTHQUAKE HAZARD RISK
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10°N|——
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o |
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10°S f——-——
90°E
Source: www.unisdr.org
5. (a) (i) Use Figure 5 to describe the distribution of high and very high earthquake hazard
(5]

risk in South East Asia.

(2110U10-1)
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Sticky Note

AO3 question looking for description of pattern.



Sticky Note

Location identified



Sticky Note

Location developed
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Hle

QU : :
@ (i) Examine“the relationship between the location of tectonic margins and the level of
earthquake hazard risk in South East Asia. [9] é

b hiear

_________________________________________________________________________________ Pcke | Steps, iy, creaker™

................. S Creceting.. Mo @uean o).

‘:/L)SK of Inanchy @azf(ﬁ«qu/aj% -
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Sticky Note

Location identified



Sticky Note

Margin location developed



Sticky Note

AO2 question looking for examination of pattern and outline of relationship - why it occurs.



Sticky Note

locates areas of high magnitude



Sticky Note

links location to process at margins



Sticky Note

Gives specific locations from resource



Sticky Note

recognises areas of low risk in relation to margins



Sticky Note

some development of high risk locations



Sticky Note

Band 2 - some use of the resource to identify patterns of high and low risk. Some link to process that examines the relationship. The discussion is partial but has clarity. Could be improved by more depth to the identification of pattern or increased detail in examination of process.
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@(b) Outline how earthquakes produce (i) liquefaction and (ii) landslides. [8] i
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Sticky Note

AO1 question that requires knowledge of processes.



Sticky Note

fails to show any knowledge of liquefaction.



Sticky Note

has a limited grasp of process 



Sticky Note

Limited AO1 knowledge of processes. Only has accuracy on landslides.










Figure 5: Earthquake hazard map of South East Asia
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Section B: Tectonic Hazards

Answer all questions.

Make the fullest possible use of examples and data to support your answers.
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Source: www.unisdr.org
5. (a) (i) Use Figure 5 to describe the distribution of high and very high earthquake hazard

risk in South East Asia. [5]

© WJEC CBAC Ltd. (2110U10-1)
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(i) Examine the relationship between the location of tectonic margins and the level of
earthquake hazard risk in South East Asia. [9]

© WJEC CBAC Ltd. (2110U10-1) Turn over.
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(b) Outline how earthquakes produce (i) liquefaction and (ii) landslides. [8] o
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Figure 6a: Impacts of the 2013 earthquake on the Philippine island of Bohol (as of 18.10.13)

16

6. (a)

Municipality Dead and missing people Destroyed buildings
Antequera 17 3000
Bilar 4 0
Buenavista 2 35
Calape 4 0
Catigbian 5 2316
Getafe 1 15
Inabanga 4 231
Loon 59 162
Maribojoc 14 0
Sagbayan 15 2
Tubigon 10 0
TOTAL 136 5761
Source: www.reliefweb.int
() Identify the mode for the dead and missing people. [1]
e[ SRS e, S
(i) Calculate the interquartile range for the dead and missing people. Show your
workings.

Interquartile Range:

© WJEC CBAC Ltd.
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(2110U10-1)
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Examiner

(b) Suggest possible reasons why there is a variation in the number of destroyed buildings iy
between the selected municipalities of Bohol shown in Figure 6a. [10]
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Other impacts of the 2013 earthquake

In 2013 over 389,000 tourists travelled to Bohol. Among the tourist attractions are a number of very
old churches, dating back to the early years of the Spanish colonisation of the island.

Figure 6b: San Pedro Church before the Figure 6¢c: San Pedro Church after the
earthquake earthquake

Figure 6d: The destroyed Abatan Bridge that connects Maribojoc to Tagbilaran City, the
capital of Bohol

Source: www.gmanetwork.com

© WJEC CBAC Llid. (2110U10-1)
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(c) UseFigures 6ato 6d to suggest how the earthquake could have impacted on the economy
of Bohol. (9]
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Figure 6a: Impacts of the 2013 earthquake on the Philippine island of Bohol (as of 18.10.13)

Municipality Dead and missing people Destroyed buildings
Antequera 17 3000
Bilar 4 - 0
Buenavista 2 35
Calape 4 0
Catigbian 5 2316
Getafe 1 15
Inabanga 4 . 231
Loon 59 162
Maribojoc 14 0
Sagbayan 15 2
Tubigon 10 0
TOTAL 136 5761
Source: www.reliefweb.int
(@ (i) Identify the mode for the dead and missing people.

Mode: ..o

(if) Calculate the interquartile range for the dead and missing people. Show your

workings.

[1]

[4]
Yo pANGE -5 gfg !
= logest = »
SMAL2E 36 253 ?
) =2.34G

Interquartile Range:

A
\26 < 54230
261 T Ve
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Examiner
(b) Suggest possible reasons why there is a variation in the number of destroyed buildings £
between the selected municipalities of Bohol shown in Figure 6a. [10]
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For continuation only.
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Other impacts of the 2013 earthquake

In 2013 over 389,000 tourists travelled to Bohol. Among the tourist attractions are a number of very
old churches, dating back to the early years of the Spanish colonisation of the island.

Figure 6b: San Pedro Church before the Figure 6¢: San Pedro Church after the
earthquake earthquake

Figure 6d: The destroyed Abatan Bridge that connects Maribojoc to Tagbilaran City, the
capital of Bohol

Source: www.gmanetwork.com
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(c) UseFigures 6a to 6d to suggest how the earthquake could have impacted on the economy oy
of Bohol. J []
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Figure 6a: Impacts of the 2013 earthquake on the Philippine island of Bohol {as of 18.10.13)

(if)

-9

16

Dead and missing people Destroyed buildings
17 3000
4 0
2 35
4 0
5 2316
1 15
4 231
59 162
14 0
15 2
10 0

136 5761

|dentify the mode for the dead and missing people.

Mode: .cu LC)O‘\ .......................................................

Calculate the interquartile range for the dead and missing people. Show your

195 - Yy

e

workings.

Interquartile Range:
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Source: www.reliefweb.int

[1]

[4]

i

Examiner
only






17

(b) Suggest possible reasons why there is a variation in the number of destroyed buildings
between the selected municipalities of Bohol shown in Figure 6a. [10]
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Other impacts of the 2013 earthquake

In 2013 over 389,000 tourists travelled to Bohol. Among the tourist attractions are a number of very
old churches, dating back to the early years of the Spanish colonisation of the island.

Figure 6b: San Pedro Church before the Figure 6¢: San Pedro Church after the
earthquake earthquake

Figure 6d: The destroyed Abatan Bridge that connects Maribojoc to Tagbilaran City, the
capital of Bohol

Source: www.gmanetwork.com

© WJEC CBAC Ltd. (2110U10-1)
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6. (a) (i) Identify the mode for the dead and missing people. slal o
=l el Bel Bl ©
Skills: 2.9 IBIRIRIE 5

| < | <
1 1

Award 1 mark for correct answer (Mode = 4).

(a) (ii) Calculate the interquartile range for the dead and missing slalo
people. Show your working. AT m ©
Ol O B
i <|O0|QO|0|<< =

Skills: 2.10 | < | <
4 4

Award 1 mark for the correct answer (IQR = 11).

Award 3 further marks for correct workings. These could incl. identification of Median = 5, Lower
Quartile = 4 and Upper Quartile = 15. Credit subtraction 15 — 4 = 11. Credit accurate use of formulae
and correct rank ordering of data:

1,2,4,4,4,5,10, 14, 15, 17, 59 (or reverse)

Any combination of the above can gain full 3 marks.

6. (b) Suggest possible reasons why there is a variation in the
number of destroyed buildings between the selected - 18138 o =
R U . SlSlalel8 S
municipalities of Bohol shown in Figure 6a ARIRIRIE 5
< | <
Content: 1.3.3
10 10

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

Candidates should apply knowledge of the factors that affect vulnerability could influence variations in
the numbers of destroyed buildings.

Destroyed buildings

e comment on the variations shown

comment on number of buildings

comment on building density

comment on earthquake proof buildings

comment on physical factors e.g. geology, slope, distance from the epicentre

17
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Award the marks as follows:

AO2.1b (10 marks)

Band Marks | Demonstrates application of knowledge and understanding to link the factors
that influence vulnerability to the variations in destroyed buildings as shown in
Figure 6a.
Applies knowledge and understanding to construct well-developed and
3 8-10 structured discussion of factors affecting vulnerability of buildings to
marks | destruction.
Applies knowledge and understanding to construct well-developed and
balanced arguments, supported by appropriate evidence.
Applies knowledge and understanding to construct a partial discussion of
2 4-7 factors affecting vulnerability of buildings to destruction.
marks
Applies knowledge and understanding to construct partially developed and
partially balanced arguments, supported by mostly appropriate evidence.
Applies knowledge and understanding to construct a limited discussion of
1 1-3 factors affecting vulnerability of buildings to destruction.
marks
Applies knowledge and understanding to construct limited and basic
arguments, supported by limited evidence.
0 0 marks | Résponse not creditworthy or not attempted.

© WJEC CBAC Ltd.
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6. (c) Use Figures 6a to 6d to suggest how the earthquake could clal o
have impacted on the economy of Bohol. =N Bl Bl Bl N ©
Ol | O 5
<[00 |0O| << it

Content: 1.3.3 | <<
9 9

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

The question is asking for an interpretation and analysis of the resources. These focus demography,
buildings, cultural attractions of the island and the destruction of infrastructure. Answers should use the
information to suggest how the earthquake could have effects on the economy of Bohol. Responses
may give a description of the changes shown in the resources and suggest how these may have
impacts on the characteristics of the economy. This may include:

Loss/death of work force leading to economic slow-down

Costs of burial

Costs of rehousing

Costs of repair of buildings

Costs of building contents

Re-direction of government funding to rebuilding leading to less investment in the economy
destruction of roads and bridges makes commerce difficult

reduction in the number of tourists attracted

loss of employment opportunities

decline of associated services such as hotels

possible positive long-term impacts e.g. rebuilding leading to improved transport and
communication network

19
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Award the marks as follows:

AO3 (9 marks)

Band Marks | Demonstrates the ability to interpret and analyse the data and evidence in
Figures 6a to 6d to show understanding of how earthquakes can impact the
economy.

Demonstrates detailed and accurate interpretation of the resources to outline
3 7-9 the impacts of the earthquake on the characteristics of the economy.
marks
Demonstrates accurate interpretation of the resources to outline the impacts
2 4-6 of the earthquake on the characteristics of the economy.
marks
Demonstrates limited interpretation of the resources to outline the impacts of
1 1-3 the earthquake on the characteristics of the economy.
marks
0 0 marks | Résponse not creditworthy or not attempted.

© WJEC CBAC Ltd.
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Figure 6a: Impacts of the 2013 earthquake on the Philippine island of Bohol (as of 18.10.13)

16

Municipality Dead and missing people Destroyed buildings
Antequera 17 3000
Bilar 4 0
Buenavista 2 35
Calape 4 0
Catigbian 5 2316
Getafe 1 15
Inabanga 4 231
Loon 59 162
Maribojoc 14 0
Sagbayan 15 2
Tubigon 10 0
TOTAL 136 5761

6. (a)

=

() Identify the mode for the dead and missing people.

(i) Calculate the interquartile ran

Mode: ...

workings.

Interquartile Range:

© WJEC CBAC Ltd.

5 -

(2110U10-1)

ge for the dead and missing people. Show your

Source: www.reliefweb.int

[1]

[4]
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Sticky Note

AO3 skills question. The manipulation of data is an element of AS papers.



Sticky Note

correct
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Examiner
I
@) Suggest possible reasons why there is a variation in the number of destroyed buildings o

between the selected municipalities of Bohol shown in Figure 6a. (101} /
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Sticky Note

AO2 question where knowledge of factors that influence the impacts of earthquakes should be applied to the resources.



Sticky Note

factor identified with some development



Sticky Note

factor identified with some development



Sticky Note

conjecture - not supported by resource



Sticky Note

identifies valid factor but drifts in development



Sticky Note

AO2 - Band 2 - 4 marks - some valid suggestions but their development is only partial. There needs to be more depth in the explanation of how the factors could cause variations in vulnerability. Reference to the resource is also needed to enhance the AO2 nature of the question. 
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Other impacts of the 2013 earthquake

In 2013 over 389,000 tourists travelled to Bohol. Among the tourist attractions are a number of very
old churches, dating back to the early years of the Spanish colonisation of the island.

Figure 6b: San Pedro Church before the Figure 6¢c: San Pedro Church after the
earthquake earthquake

Figure 6d: The destroyed Abatan Bridge that connects Maribojoc to Tagbilaran City, the
capital of Bohol

Source: www.gmanetwork.com
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@ (c) Use Figures 6ato 6d to suggest how the earthquake could have impacted on the economy
of Bohol. (9]
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Sticky Note

AO3 question where the resources have to interpreted in the context of economic impacts.



Sticky Note

economic impact seen with resource link but needs development



Sticky Note

economic impact seen with resource link and some development



Sticky Note

economic impact seen with resource link and has development



Sticky Note

economic impact seen with resource link but needs development



Sticky Note

AO3 - Band 2 - 6 marks. There are a number of economic impacts identified with some link to the resource. These have range but the depth of development lacks consistency.










Figure 6a: Impacts of the 2013 earthquake on the Philippine island of Bohol (as of 18.10.13)

16

Municipality Dead and missing people Destroyed buildings
Antequera 17 3000
Bilar 4 - 0
Buenavista 2 35
Calape 4 0
Catigbian 5 2316
Getafe 1 15
Inabanga 4 . 231
Loon 59 162
Maribojoc 14 0
Sagbayan 15 2
Tubigon 10 0
TOTAL 136 5761

6. (a

=l

(i) Identify the mode for the dead and missing people.

U
Mode: LI'@ 4
(if) Calculate the interquartile range for the dead and missing people. Show your
workings. 5 [4]
= logeSe — . _ 29
) U E O
=234

Interquartile Range:

o
\26 < 54230
261 T Ve
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Source: www.reliefweb.int
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Sticky Note

AO3 skills question. The manipulation of data is an element of AS papers.



Sticky Note

correct



Sticky Note

not understand IQR and use of data is incorrect
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=

(b) Suggest possible reasons why there is a variation in the number of destroyed buildings
between the selected municipalities of Bohol shown in Figure 6a. [10]
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Sticky Note

AO2 question where knowledge of factors that influence the impacts of earthquakes should be applied to the resources.



Sticky Note

factor identified and linked but drifts from resource



Sticky Note

factor identified and linked but exemplar material drifts from resource



Sticky Note

factor identified and linked



Sticky Note

factor identified and linked



Sticky Note

factor identified and linked



Sticky Note

AO2 - Band 2 - 7 marks. A variety of factors have been identified with some development - although this is not consistent in detail. There needs to be more referral to the resource to enhance the AO2 nature of the answer.
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Sticky Note

factor identified and linked but needs a little more explanation



Sticky Note

drifts from the question



Sticky Note

factor identified and linked but no link to resource
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Other impacts of the 2013 earthquake

In 2013 over 389,000 tourists travelled to Bohol. Among the tourist attractions are a number of very
old churches, dating back to the early years of the Spanish colonisation of the island.

Figure 6b: San Pedro Church before the Figure 6¢: San Pedro Church after the
earthquake earthquake

Figure 6d: The destroyed Abatan Bridge that connects Maribojoc to Tagbilaran City, the
capital of Bohol

Source: www.gmanetwork.com
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Sticky Note

AO3 question where the resources have to interpreted in the context of economic impacts.



Sticky Note

use resource to address impact on tourism but could be more precise



Sticky Note

develops economic impact well with good use of resource



Sticky Note

develops economic impact effectively



Sticky Note

develops economic impact effectively



Sticky Note

some understanding of globalisation concept but drifts to conjecture - needs more concrete link to resource 



Sticky Note

AO3 Band 3 - 8 marks.  Has argued across a range of economic impacts. Most of the points made are related to the resource and use has been made of all aspects of Fig 6 and not just the photos.





od to  NOBRS ol 24 bre 1O M .

For continuation only.

D 08 COAS B ... RO .. A
......... [ mpcu-o:s,éé%ﬁapwﬁah)w/’rcmdaméwtu
ohowshed g Ik R T ﬂwb ......... Job ¢
........ Nl bt i (B Peoria..... 1087 Do ConfPlogecl X
................. Alse..... A 0conom. m;@f&wmﬁqh««,JMVod
...... &‘Sﬂ&fkdldz;‘ade—% il a0l
....... I mnltamlsomJ/CG»«&eQCmth[ZL
_________ 0 ocre/mmtow()uldeyv“p/i a..Jofer bed . d.............
_________ L05.....CF .. £l 20 brltin llrs. M. co0quets ...
................ R...log beon 1ot 0o e0Cowm,...could. b

.................................................

......... thot it Hle . 0R0P%...ke... il tdes _isla. Childen

....... s

......... wfwaﬁ?lglwme,ec@topatg/w{acmwnh
W‘“ ......... [V;é&( .......... 66¢nw ..... JM_,/ ...........................................................................

WJEC CBAC Ltd. (2110U10-1)

Examiner
only



Sticky Note

economic impact of mortality discussed



Sticky Note

conjecture



Sticky Note

identifies economic impact 










Figure 6a: Impacts of the 2013 earthquake on the Philippine island of Bohol (as of 18.10.13)

(ii)

-4

16

Dead and missing people Destroyed buildings
17 3000
4 0
2 35
4 0
5 2316
1 15
4 231
59 162
14 0
15 2
10 0

136 5761

|dentify the mode for the dead and missing people.

Mode: ... LOOY\. .......................................................

Calculate the interquartile range for the dead and missing people. Show your

s

workings.

Interquartile Range:

© WJEC CBAC Lid.
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Source: www.reliefweb.int

[1]

- \ /L|- [4]

i i

Examiner
only




Sticky Note

AO3 skills question. The manipulation of data is an element of AS papers.



Sticky Note

incorrect



Sticky Note

incorrect
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@ Examiner

1
(b) Suggest possible reasons why there is a variation in the number of destroyed buildings y
between the selected municipalities of Bohol shown in Figure 6a. [10]
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Sticky Note

AO2 question where knowledge of factors that influence the impacts of earthquakes should be applied to the resources.



Sticky Note

factor identified and linked



Sticky Note

factor identified and linked



Sticky Note

Character of buildings developed but some drift into conjecture



Sticky Note

factor identified and linked



Sticky Note

development of epicentre comment.



Sticky Note

Band 2 - 6 marks. There is some knowledge of the factors identified but the development is only partial. There needs to be more linkage to the resource to enhance the AO2 character of the response.
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Other impacts of the 2013 earthquake

In 2013 over 389,000 tourists travelled to Bohol. Among the tourist attractions are a number of very
old churches, dating back to the early years of the Spanish colonisation of the island.

Figure 6b: San Pedro Church before the Figure 6¢: San Pedro Church after the
earthquake earthquake

Figure 6d: The destroyed Abatan Bridge that connects Maribojoc to Tagbilaran City, the
capital of Bohol

Source: www.gmanetwork.com
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Sticky Note

AO3 question where the resources have to interpreted in the context of economic impacts.



Sticky Note

impact seen with partial development



Sticky Note

impact seen with partial development - tax point is quite vague



Sticky Note

impact seen with partial development - link to resource has not been identified. For example could easily identify the church in question.



Sticky Note

has some development here but the comments could be more precise and clarified in more depth.



Sticky Note

impact seen with some focus in its development



Sticky Note

conjecture



Sticky Note

Band 2 - 6 marks. There have been a number of valid points made concerning the economy. These have a partial development in places. The reference to the resource is there but could be more consistent.










Figure 6a: Impacts of the 2013 earthquake on the Philippine island of Bohol (as of 18.10.13)

16

Municipality Dead and missing people Destroyed buildings
Antequera 17 3000
Bilar 4 0
Buenavista 2 35
Calape 4 0
Catigbian 5 2316
Getafe 1 15
Inabanga 4 231
Loon 59 162
Maribojoc 14 0
Sagbayan 15 2
Tubigon 10 0
TOTAL 135 5761

6. (a

(i) Identify the mode for the dead and missing people.

(i) Calculate the interquartile range for the dead and missing people. Show your

workings.

Interquartile Range:

© WJEC CBAC Ltd.

(2110U10-1)

Source: www.reliefweb.int

[1]
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Examiner
|
(b) Suggest possible reasons why there is a variation in the number of destroyed buildings o

between the selected municipalities of Bohol shown in Figure 6a. [10]

© WJEC CBAC Ltd. (2110U10-1) Turn over.
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Other impacts of the 2013 earthquake

In 2013 over 389,000 tourists travelled to Bohol. Among the tourist attractions are a number of very
old churches, dating back to the early years of the Spanish colonisation of the island.

Figure 6b: San Pedro Church before the Figure 6¢: San Pedro Church after the
earthquake earthquake

Figure 6d: The destroyed Abatan Bridge that connects Maribojoc to Tagbilaran City, the
capital of Bohol

Source: www.gmanetwork.com
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Examiner
[
(c) UseFigures 6ato 6d to suggest how the earthquake could have impacted on the economy o

of Bohol. [9]

© WJEC CBAC Ltd. (2110U10-1) Turn over.
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(a) Suggest why explosive volcanic eruptions are often the most hazardous. [8]
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(b)  Outline one or more short-term response(s) to the effects of volcanic hazards. [10]
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7. (@) Suggest why explosive volcanic eruptions are often the most hazardous. [8] oy
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7. (a) Suggest why explosive volcanic eruptions are often the most hazardous. [8]
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7. (a) Suggest why explosive volcanic eruptions are often the most slal o
hazardous. =l el Bel Bl ©
Ol | O 5
<|OQ|Q|0| << =

Content: 1.3.2 | <| <
5 3 8

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

AO1

The AO1 knowledge and understanding should focus on the characteristics of explosive eruptions.

This could include reference to:

o the magnitude of explosive eruptions

o the types of hazard that are produced by explosive eruptions - pyroclastic flows, ash clouds, gas,
landslides, tsunamis

o frequency of eruptions

AO2

The AO2 element requires candidates to suggest why explosive eruptions are often the most

hazardous. This could include reference to:

e the processes that often make explosive eruptions more hazardous e.g. high viscocity of andesitic
or rhyolitic magma preventing the release of trapped gases

o the areal extent of the hazards produced e.g. ash clouds or lahars

e an alternative approach i.e. the idea that fissure (effusive) eruptions also produce dangerous
hazards such as lava flows

o the magnitude of the impact of the hazard is dependent on the location of the eruption relative to
population and potential economic losses

o losses can be dependent on the preparedness of the place where the eruption occurs

21
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Award the marks as follows:

AOL1 (5 marks)

AO2.1b (3 marks)

Band Demonstrates knowledge and Applies AO2.1b to discuss the extent to
understanding of the characteristics of which explosive eruptions are relatively the
explosive eruptions that make them most dangerous.
dangerous.

3 4-5 marks 3 marks
Demonstrates accurate knowledge and Applies knowledge and understanding to
understanding of characteristics of construct well-developed and structured
explosive eruptions that make them discussion of the relative danger of
dangerous. explosive eruptions.
Demonstrates accurate knowledge and Applies knowledge and understanding to
understanding through the use of construct well-developed and balanced
appropriate, and well developed examples. | arguments, supported by appropriate

evidence.

Well annotated sketches / diagrams / maps
may also be used and should be credited.

2 2-3 marks 2 marks
Demonstrates mostly accurate knowledge | Applies knowledge and understanding to
and understanding of characteristics of construct a partial discussion of the
explosive eruptions that make them characteristics and formation of the relative
dangerous. danger of explosive eruptions.
Demonstrates mostly accurate knowledge
and understanding through the use of Applies knowledge and understanding to
mostly appropriate examples which may not | construct partially developed and partially
be fully developed. balanced arguments, supported by mostly

appropriate evidence.

Generalised sketches / diagrams / maps
may also be used and should be credited.

1 1 mark 1 mark
Demonstrates limited knowledge and Applies knowledge and understanding to
understanding of characteristics of construct a limited discussion of the
explosive eruptions that make them characteristics and formation of the relative
dangerous. danger of explosive eruptions.
Demonstrates limited knowledge and Applies knowledge and understanding to
understanding through the use of examples | construct limited and basic arguments,
which are undeveloped. supported by limited evidence.
Basic sketches / diagrams / maps may be
seen and can be credited.

0 Response not creditworthy or not Response not creditworthy or not

attempted.

attempted.
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7. (b) Outline one or more short-term response(s) to the effects of clal o
volcanic hazards. =N Bl Bl Bl N ©
Ol | O 5
<|O0|0|0| << et

Content: 1.3.5 | <<
10 10

Indicative Content

The indicative content is not prescriptive and candidates are not expected to cover all points for full
marks. Credit other valid points not contained in the indicative content.

AO1

Answers should demonstrate a knowledge and understanding of short-term responses to a volcanic
hazard. The content will depend upon the responses selected and the examples used to illustrate but
may refer to:

the activation of warning systems

monitoring hazards e.g. ash clouds

modifying hazards e.g. managing lava flows

evacuation of population

controlling movements of infrastructure

rescue operations and provisions provided by emergency services

relocation of population

aid distributed to affected area

Responses should show knowledge of the characteristics of the response(s) and an understanding of
how they are used to manage the hazard.
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Award the marks as follows:

AO1 (10 marks)

Band Marks

Demonstrates knowledge and understanding of short-term responses to
tectonic events.

3 7-10
marks

Demonstrates detailed and accurate knowledge of short-term responses.

Demonstrates detailed and accurate understanding of how short-term
responses are used to manage tectonic events.

Demonstrates accurate knowledge and understanding through the use of
appropriate and well developed examples.

Well annotated sketches / diagrams / maps may also be used and should be
credited.

marks

Demonstrates accurate knowledge of short-term responses.

Demonstrates accurate understanding of how short-term responses are used
to manage tectonic events.

Demonstrates mostly accurate knowledge and understanding through the use
of appropriate and well developed examples.

Generalised sketches / diagrams / maps may also be used and should be
credited.

marks

Demonstrates limited knowledge of short-term responses.

Demonstrates limited understanding of how short-term responses are used to
manage tectonic events.

Demonstrates limited knowledge and understanding through the use of
appropriate and well developed examples.

Basic sketches / diagrams / maps may also be used and should be credited.

0 0 marks

Response not creditworthy or not attempted.
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= ”
. (a) Suggest why explosive volcanic eruptions are often the most hazardous. [8]
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Sticky Note

Question has AO1 elements which require knowledge of the character of explosive eruptions. AO2 is seen in the link to hazard magnitude.



Sticky Note

AO1 question requiring knowledge of short term responses to volcanic hazards.



Sticky Note

potential AO2 but is very vague



Sticky Note

AO1 character of eruption



Sticky Note

AO2 - why dangerous but limited detail



Sticky Note

AO1 character of eruption



Sticky Note

AO1 character of eruption



Sticky Note

AO1 character of eruption



Sticky Note

AO2 - attempts comparison but limited



Sticky Note

AO2 - why dangerous but limited detail



Sticky Note

AO2 - very vague - needs eg to enhance comment



Sticky Note

AO1 - Band 2 - 3 marks. Shows some knowledge of explosive eruptions but each point lacks depth of development
AO2 - Band 3 - 3 marks. There is a range of comments each of which has been tied into the idea of why the eruption type is dangerous. Just makes the top band.
Use of examples would have lifted the answer.



Sticky Note

point made with some development considering those in immediate danger



Sticky Note

BOD for blocking lava



Sticky Note

point made with some development



Sticky Note

point made with some development
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Sticky Note

point made with some development using example



Sticky Note

point made with some development



Sticky Note

AO1 Band 2 - there are a range of strategies given with variation in the depth of development. The answer would have been enhanced with more reference to examples as well as a greater consistency of detail.
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7. a) Suggest why explosive volcanic eruptions are often the most hazardous.
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(b)

Outline one or more short-term response(s) to the effects of volcanic hazards. [10]
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Sticky Note

Question has AO1 elements which require knowledge of the character of explosive eruptions. AO2 is seen in the link to hazard magnitude.



Sticky Note

AO2 link to most hazardous.



Sticky Note

AO2 link to most hazardous.



Sticky Note

AO1 character of eruption.



Sticky Note

AO1 character of eruption.



Sticky Note

uses example to support



Sticky Note

AO1 - Band 3 - 4 marks. Shows good knowledge of the character of explosive eruptions with some examples.
AO2 - Band 2 - 2 marks - has made some points but the link to 'most hazardous' needs to be more overt.



Sticky Note

AO1 question requiring knowledge of short term responses to volcanic hazards.



Sticky Note

point made but needs development



Sticky Note

point made with some development in example
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Sticky Note

point made but needs development



Sticky Note

developed point but example is for earthquakes



Sticky Note

AO1 -Band 2 - 7 marks. Answer given credit for the range of responses. Some have development and are backed up by exemplar materials but this is not consistent enough for top Band. 
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Sticky Note

AO1 characteristic of landform



Sticky Note

AO2 - links process with characteristics



Sticky Note

AO2 - links process with characteristics



Sticky Note

AO1 character of eruption.





Question

number

Rhif y

Cwestiwn
lGr(;Q opsaAts ash o) dust  ces” Gloct (o P
Sun—— Clusvy  Rmpabe 10 ,L&C( b eise
Cor Clunnre deSOuction  to C}gps Chel
bﬂm‘s €<'. chbh  cen /}Q_ If\ﬁt_,u' Lod Se  Ceuse
f‘)ui(c\#sﬁ, ) S (e RIsSe S hedodas s e Cousy
e cllsn,  PiosEs 10 peope enCl %@%Si

A | _

te Lrpuits UL el Dﬂpr_L cont  [Dle Lo

[live 2 p.c L‘VJHFFZ\DHALI//MDJJHD f:,olvm

(oo lled

I!\'n, Ayl {l{éﬁ&f_r \.

Lt gy

J

Leave |
Blank
Gadewch
yn wag



Sticky Note

development of seasonal variations



Sticky Note

relationship seen



Sticky Note

AO1 character of eruption.



Sticky Note

AO2 - use of example data enhances the 'most hazardous' idea
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7. @u} Suggest why explosive volcanic eruptions,are often the most hazardous.




Sticky Note

Question has AO1 elements which require knowledge of the character of explosive eruptions. AO2 is seen in the link to hazard magnitude.



Sticky Note

AO1 character of eruption.



Sticky Note

AO1 character of eruption with some development



Sticky Note

AO1 character of eruption with some development



Sticky Note

AO2 link to most hazardous.



Sticky Note

AO1 Band 3 - 4 marks - shows knowledge of the character of the eruption but could be more consistently detailed in development. Use of exemplar material would easily lift this answer.
AO2 - Band 2 - 2 marks - the discussion is partial and could be more overt in the link to 'most hazardous'  



Sticky Note

long term





21

hothr Shove teme reofnse & o fle
effeus of a0 Velcance  erufbion w0
%M()M ﬁ‘ﬁ W% Axeo. 1 ®

J
3
e
=
3
A\
<)




Sticky Note

point made but lacks development



Sticky Note

point made but lacks development



Sticky Note

point made but lacks development



Sticky Note

point made but lacks development



Sticky Note

Band 2 - 4 marks. There are series of valid strategies identified but there is limited development. No use of examples.
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Sticky Note

AO2 link to most hazardous.



Sticky Note

AO2 comment but lacks precision
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[
(a) Suggest why explosive volcanic eruptions are often the most hazardous. [8] o
(b) Outline one or more short-term response(s) to the effects of volcanic hazards. [10]
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